ot § wef¥a uftuy 1 AT 7HE & IHER qod Ry
T T4 T 16 Q 9 Yafed &R &1 |9 J1d IS |

§16Q
12VE 6V

e

. Obtain expression for ripple factor for half-wave
rectifier.

AT fseahit & FeTu SfHehT 0T ¥ =ieh A1 it |
. Describe voltage quadrupler circuit.

Sl AR IRAY H AR FHIST |

. Discuss concept of loadline and operating point
for an amplifier.

T Ya¥sh & U isemsy &t SAIUROT qdn g=er
fag =1 faa=m #ifsa |

. Describe direct coupled multistage amplifier.
T JTEAGH ageRvt yaHd 1 faerr e w)

. Describe the construction and working of
P-channel MOSFET.

P-=9c1 MOSFET ! sHMEE Ud SiE-Yolelt &1 faeror
g |

. Explain the basic principle of Oscillator.

QT & 9 fagra Sl 9HSiEu |

IHH
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

9T - ' yv-ua ‘a1’ @R ‘e’ € wmuel | fawfsa ¥ g9

TUE & FEIER yeH & SW S|
Section—-A 4x1%=17
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1% marks.
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fder ;- fordl = wwAl & W ST 3T 379 W I ITAHER
T VT8, Ueh 15 1 3Tfrehad 30 i | afiEifia shifeg |
YF T9T 1% 37 F1 T
1. (i) What is unilateral circuit ?
ni¥es aRue F1 B T 2
(i) Give mass-action law for extrinsic
semiconductor.
sTget st & fore wefa-foen fagma ST
(ii1) Define smoothing action in a rectifier circuits.
st 9ty § TRt foran 61 aRefea sifsme
(iv) What is dynamic amplification factor ?
ek YaLe TNk 1 Bl § 2
(v) Why coupling capacitor is used in amplifier
circuit ?
Yay® uRue H A G w1 U R fema
ST R ?
(vi) Give reasons for displacement of Q-point.
Q-forg # T & RO FAET
(vi1) Define Barkhausen criterion.
eSS FHHR! Sl IR HifS |
PH-07/4 (2) 17-269

QUE—3
(afa oy 3T uv)
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(viii) Write associative and distributive laws in

Boolean algebra.

Ffered Tt | weed Td famw e & fafen)

Section-B 4x7=28

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should

not exceed 200 words. Each question carries

7 marks.
Lig—d
(g 3T 999)

or - 5= 9/ gvHl & SW ST | 2T 3799 W hT AfRaH

200 =21 § ufieifya #Ie | g 99 7 o7 1 T |

. Define four terminal network. Discuss short circuit

admittance parameters.

e et @ AR wifse) oeEfaa g

yr=cll st fod=mn SifsT |

. Obtain the equivalent circuit for the circuit shown

in Fig. using Norton’s theorem and determine the
value of current flowing through the resistance
16 Q.
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